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INSTRUCTIONS TO CANDIDATES

1. Immediately after the commencement of the Examination, you should check that this
Booklet does not have any unprinted or torn or missing pages or items, etc. If any
of the above defects is found, get it replaced by a Complete Question Booklet of the
available series.

2. Write clearly the Question Booklet Version Code A, B, C, D or E in the appropriate
space provided for the purpose, in the OMR Answer Sheet.

3. Enter the name of the Subject, Reg. No., Question Booklet version code and affix
Signature on the OMR sheet. As the answer sheets are designed to suit the Optical
Mark Reader (O.M.R.) system, special care should be taken to fill those items
accurately.

4. This Question Booklet contains 70 questions carrying equal marks. All questions must
be attempted. Each question contains four answers, among them one correct answer
should be selected and shade the corresponding option in the OMR sheet.

5. All the answers should be marked only on the OMR sheet provided and only with a
black or blue ink ball point pen. If more than one circle is shaded / wrongly shaded /
half shaded for a given question no marks will be awarded.

6. Questions are in both English and Kannada. If any confusion arises in the Kannada
version, please refer to the English version of the questions.

7. Immediately after the final bell indicating the closure of the examination, stop making
any further markings in the OMR Answer Sheet. Be seated till the OMR Answer Sheet
is collected. After handing over the OMR Answer Sheet to the Invigilator you may
leave the examination hall.
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The worst nuclear accident happened to date 1s occurred at
a) Chemobyl in 1986

b) Three Mile Power Plant in 1979

c) Sellafield in 1857

d) Fukushima in 2011

[YANTINS £33 3*:‘3:&“% BITOS RTINS

a) 1986 T9 ¥
b) 1979 :S sl 1 S AT WSS

o ed

Cown N

fﬂ

¢) 1957 39 :'x:;g;ssf__

. The source of atmospheric oxygen is

a) Nitrogen cycle b) Green plants
¢) Water d) Carbon cycle

- ‘ﬂ‘*M'ﬁ’ 1’ \Ae

WSSV T 3“. A

a\ ——a e e b‘ =5 = = =
P NTUWNT IS oA ‘*...! [ =g

) N a=s d —_— —— _'-.._
C) & SoWUEY /ST

‘Noise pollution’ is measured in the unit of
a) Decibel b) Frequency

¢) Joules d) Newton

N et NAr s IR A= t2gt AT — AT =

Sen W W DS O R e v‘»wv, L.\,w.
- S EN -

a) Eus b) E=s7=

C) st d) Shuss
- ~~ -~ ‘

a) CO, b) CCL

P
N/
=) Cs ) CO
c) CFCs d
~ -<\—\cﬂ- .—*—* a=ss *"*\ \~W\<—' N -\—\*\—'—
\\.\..\\ o AW TY A vt | e e \-v»~~~.‘ \.«w

a) CO, b) CCL
¢) CFCs d) CO
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5. Fly ash from thermal power plants is used for making

a) Glass b) Bricks
c) Ceramics d) Clay pot e
SR DT IBONPOT 73, WO Z03R0RL0 WIAINITT,
s '”” " L3t
a) ™ b) aed]
C) omoes d) =oeds 0TS
6. The aim of the creation of golden rice is to provide
a) To combat Vitamin A deficiency b) A frost-resistant r.ice N
c) To combat Vitamin B deficiency d) To combat Vitamin C deficiency
WIS 8, TuRdE 10 QIR WHNRIYT
2) QLRT" » ERTIOTY DRV b) &=-QTRGE 58,
C) Q0T 2 FRTIORY ATOFLD d) QL0 2 FRTFODT DTOOHED

7. Persistent Organic Pollutants (POPs) in environment are dangerous,
because

a) Remain in the environment, bioaccumulate in organisms and biomagnify
throughout the food chain

b) Carcinogens

c) Corrosive and toxic

d) Persist in the environment and contribute to an increase in
greenhouse gases

BORTTA, VTeBT WO SROZFTH (&u&ﬁ@b} 9T 0300, DTS

a) WORTTY, YVITD BREMBT, z%eaﬁeof@M woiraeeﬁ%do%cﬁew =02 ¥ O8-wm0
ROBLOD YVTIBR, SOFROZT

b) IS ned

C) ToTF0 B ARFO

d) WORTHY TCWRTOOINZT I BATHZOT LRONY o_b)o?)jufi TN
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8. Anthropogenic sources of methane include

10.

a) Wetlands

b) Landfills

c) Methane hydrates
d) Forest fire

WIFTT BRIFw, LTI LriRoRss
a) NI

b) ezrznh

C) TS BT et 7isd

d) &I Fos

Ozone layer absorbs the
a) UV rays
c¢) Cosmic rays

b) Infrared
d) CO
2B TTTRY &)eairae}%d DFTEANS ORI ?

a) 030 3TeanEd b) eertom)
C) 503 3TN d) CO

Which of the following are natural sources of air pollution ?
a) Earth Quake

b) Volcanic eruption

c) Solar Flair

d) Photosynthesis

2 SINBIIY YT HELRRORT FANFE Zeond 9
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11. Over nourishment of water bodies is known as

12.

13.

a) Eutrophication
b) Entrophication
c) Atrophication
)

d) Detrophication

RORRONS 380303 jﬁ@’ﬁoﬁa&’g

a) odoEResy
b) wotdreedess
C) @R eadess”
d) Beinedess®

20T FBODHNIT.

Family Planning Programme was started in India in

a) 1947
c) 2003

B0t3002) 03 € FOIF DI, YPOBEE),

a) 1947
c) 2003

Smog and dust pollution causes

a) Bronchitis

c) Malaria

Far 32 0ees IR

b) 1952
d) 1970
T€) T,C0RRESD O,
b) 1952
d) 1970

b) Cirrhosis

d) Typhoid
1 STERWNOIT,

b) 2Tnrexs®

SPACE FOR ROUGH WORK



LT

14

15.

16.

j e

Methods of waste reduction which include
a) A manutacturing products with multiple packing

b) Encouraging customers to bring their own reusable bags
¢) Mixing all types of waste
d) None of the above
DR  BO33 ¢ DTINL 2 2T0Y KevF
a) :m T 0T BRCODT MBI TTneD
b) mITTD zm&:'c S0 WSS ""‘“m:’::‘:‘d Weond 3Tw Fa iy
C) “ Le3on 3, ja’g(;oﬁ 0 TRERFPT
d) SocO3 cSnPTe we.
Rain water harvesting is a major method implemented for
a) Water conservation b) Soil conservation
c) Forest conservation d) Ecological conservation

QT BRI 1TT o ¢ TT2D TN

a) ) NCU§E® b) Sords meg "'6;"
C) ©ory z}odfig—é‘ d) wbw pylelet.fi

-

Which of the following enhances soil fertility ?
a) Crop rotation

b) Improved methods of agriculture

¢) Using new seed varieties

d) Irrigation

=2 3937\}3@“#@#03)@&5)& i @JO'JQJgL"OJJFi wd\o u 7
a) w36 70

2OTHUI )&zw TN

C) WA Lees FUTF) WHRDTD
) FeTER0
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17.

18.

Fluoride pollution in water causes

a) Fluorosis b) Ketosis
c) Asbestosis d) Scurvy
003 Fpedw® SROF 0T QUOLRTOZT.

a) PRSP b) seedpedr’®
C) TR d) BOF

Global warming due to agricultural practice is through

a) Soya bean and wheat system grown in sub-humid area
b) Increased usage of chemical fertilizers and pesticides
c¢) Paddy flied

d) All the above

& UWADIT DOTN TNEB TTRRD DOFCIRNG.
a) YOTB-STF BTBeBT WIVT Aeadn W 202) Reed a’kd:);

fae)

-0

F53p)

o
C 25@ e,gmtﬁs

)
b) ToRRO3RE HRWT %) $eL3TOTBNY WIFOD T
)
d) S0eOT DR,

19. The depletion of forest cover leads to accumulation of

a) NO, b) SO,

¢) CO, d) O,
003 9,500 FIN A FoTEE, TTLRWMITT.
a) NO, b) SO,

c) CO, d) O,

SPACE FOR ROUGH WORK
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20. Salinity is the presence of
a) Soluble salts
c) Acid

a) FOMOT o[eaNs
C) S

21. High exposure of radiation cause
a) Loss of white blood cells
b) Hair loss
c) Tooth decay
d) Leg fracture

AT I, —

b =Z=~—Je s o
B S V)

d) :men —amT
VN A ST

9- SG - 664

in soils or water.
b) Insoluble salts
d) None of the above
QTON3.
b) $onT o= eansh
d) B0eOI YT B

clL

e

22. What is the most abundant greenhouse gas in the atmosphere ?

a) Methane

b) Nitrogen dioxide
c) Water vapour
d) Carbon dioxide

—_——— e —m— ——."'—'\T;’-‘"?'“‘ A = A== 2T e A= =1 )
ATIL Uil e o UIUT Wt vl DA ULty D0 O odo 2w Lo
25 7, < .
a) liTT
b‘! To Yo =% (o —uF
L VN Y e e e WO
< -~
ENPE N
r\) De[{ =
w VAN T e
gd) TSI = =
U/ TenT V7 W& o7 &
Y ~£
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23. Which one of the following soil horizon contains the most nutrients
for plant growth ?

a) O horizon b) A horizon

¢) E horizon d) B horizon
A%, TSI 3R odss Boess ONeSEY B ¢HTO0INTE ?
a) O oneg b) A once

c) E ance d) B ance

24. The first Indian city to adopt CNG (Compressed Natural Gas) for public

transport is

a) Delhi b) Ahmedabad

c) Kolkata d) Chennai

TTERT MOTT 20572 (F0308 FANTS SR0) o SYRRABRCE BATY
LTS INT

a) oz9 b) “BZTRT

C) 3peu d) zs:_u

25. Organic farming is
a) Farming without using pesticide and chemical fertilizer
b) Enhances the biodiversity
c) Promotes soil biological activity
d) All of these

TR0 O3
)
o - C J
a) $eLTRIT SO TR CNAT LTS wesd
5 om0 e B .
b) 2360% 0% S0 BIRBT
«KL

|3
T A2 = nde )
C) 0D & 23 BLOnLBoDT ¢
- (=
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26. Moisture in the air is known as

2

28.

29,

a) Water
c) Snow

ﬁ*@omf) ) BEDOBBID ooeriocifa ielovelontabrIn

) ._D
) & ds

(TR Y

Major air pollution in Bengaluru
a) SO,
c) Particulate Matter
onendTd DR DRISAVII
a) SO,
C) wé&’z’-‘&%@f@ﬁs ﬁf%ésﬁs

Major Source of Dioxin Pollution in Air is
a) Burning of plastic waste

¢) Burning coal

YOI EBoSRET d.ra@ddd TTOD B
LR e R

C) RoBow #Q)cg@o

Major source of Bioaerosol pollution is

a) Thermal Power Plant

c) Fossil Fuel

WOIREITRMNT BRITE FW0 B
a) eroﬁ AT WEC

SG - 664

b) Fog
d) Humidity

b) =oo%o
d) 3emo03

b) Burning agricultural waste
d) Burning of wood

b) 3 IR ORI
d) 08 B3

b) Sewage Treatment Plant (STP)

d) Burning of Plastic Waste

b) w$icor ROR0T 8 (STP)
d) =25 @émgﬁmq AT
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30. Ramsar Convention refers to the conservation of

31.

32.

a) Deserts
) Agriculture lands

b) Wetlands
d) Forest lands

TOT* ARPEB ey AT ROTFFODI) RRUAZT

a) IR0

C) T BP0

b) 23°70 ajw'e*dr{edo

d) €503, 230

Controlling Vehicular Pollution is contemplated under

a) Environment Protection Act, 1986

b) Water Act, 1974
c) Air Act, 1981
d) Water Cess Act, 1977

B BROJHD ROD0ZRIPT BT RODO 03RRIRTINT

a) ®oaT ;‘Jodﬁm zsoof% , 1986
b) Qeds T, 1974
C) 0030 303, 1981

)

d) DT 3F° aofoo, 1977

Temperate grassland are called as
a) Savanna

c) Dense forest

b) Steppes
d) Wetland

DO %d‘ojo@rbgd

2L

b) A

d)-

£

-

g}
W
@
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33. What is the permissible range of pH for drinking water as per the Indian
Standards ?

a) 6to9 b) 6.5t07.5
c) 6108.5 d) 6.5t08.5

° S oA e 2 ) - N
PTSE0T TTT VBT E0TRN TS SDTERT Feed ) 7
N - e
-~ —
a S b) 6.5 9c37.5

© )
0c% 8.5 d) 6.5 003 8.5

34. Utilisation of natural resources in moderate manner to remaining something
for the next generation is termed as

a) Resettlement b) Sustainable development
c¢) Rehabilitation d) Mutual development

©
(G
L

2T OWTTL wochen FINFT BeTIQONTR DOFT0 030309,

6 Vgt =, At = - - =
LI TR QO FEODSONST
-t
< c‘é‘::c'é'_’\‘\';f [ R a T O - A
a) DAL 003 b) IR0 BRHQ
; N
T O ) (e — )
C) OBROLITS d) =ORC URFO
! v Q

35. Chlorination of water would be an example of
a) Removal of turbidity
b) Disinfection
c) Increasing dissolved oxygen
d) Decreasing dissolved oxygen

. ) . R
= = A oD oA A= 6 AN cANEINTENER AT
20T TR OB GLU Wl SNTODOBRTRND

- > ¢ - 3
R SRAC IOV N ORTI RIS DI L v

- o~ .

a) — Pan P A= S D =

= A Az
b) ALSLCOCYS' S

_—bi_-.(c\__‘ crmnow iy =S S =~
C) TONT SOTaiTwtw TSy v
™ >, =
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36.

37.

38.

VG R

- 664 -14-
Total number of Oxygen atoms in 0zone molecules is
a) 2 b) 4 c) 1 S
LB ee0ndds 1) s FIRRINY R0,
a) 2 b) 4 c) 1 P93

A single identifiable source that discharges pollutants into the Environment
a) Point source

b) Non point source

c) Line source

d) Mass source

LORTDOT ORI TTBNIR) BPTTIB B RITISBUBOITIGE RO
a) TOWOLF IR

b) To00tF woE Bonw

C) TeBod B

d) To0&%3 B

Water polluted by domestic sewage causes ill effects on human health like
a) Cholera, dysentery, diarrhoea, infectious hepatitis

b) Diabetes, cancer, obesity

c¢) AIDS, syphilis

d) None of the above

Tedeod) B JeO0T FLOXBNRROE AT BRIDI STRNT WdedS 83 Ded0DE) F3
DOTR) e3P oo
a) O, Yed), BIWT, AOTWT D R

b ORI, ), CJUS waz:o

" AR O

QT
w08 :Jomug)dra Y.

()

) =
)
d)
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39. The first country to recognize air pollution due to industrialization is

a) India b) America
c) England d) China
%m@éeﬁdm@omﬁ modwdn@@dég{rbdo@mﬁ BT B3
a) RT3 b) e00%
c) Qortow® d) 23e

40. Knock -Knee syndrome is caused by

a) Fluoride pollution b) Lack of Vitamin D
c) Lack of Vitamin C d) Arsenic Pollution
T - A0TR,EI ATO0T YVOEDTOZTS

a) RDBE IR i b) Q0T B BRCS
C) QOWVT A FRTS d) &R SN0

41. The examples of ground water is

a) Springs b) Lakes
c) Ponds d) River
202 OT NVTIBIHBNGORT
a) wrﬁ\rﬁb b) RBpe=onEd
C) BN d) 30

42 What is the maximum allowable concentration of fluorides in drinking water ?
a) 1.50 mg per liter b) 1.25 mg per liter
c) 1.0 mg per liter d) 1.75 mg per liter
FBOTOT 0T FRETT ne now IROTERIT WOTE ORI ?
a) 1.50 mg ©& OesT” b) 1.25 mg & Oet3v®
c) 1.0 mg B8 Oew d) 1.75 mg @& Oee3v®

SPACE FOR ROUGH WORK
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43.

45.

46.

Marine ecosystem does not include

a) Ocean b) Coral reefs

c) Estuaries d) Lakes

ARNT, FoRT TR 20D weRReBy,

a) =g S b) BRIS woBRW
C) 2OET0MLD d) O TR OIANS)
India pledges 33-35% cut in carbon emission intensity by

a) 2050 b) 2015

c) 2014 d) 2030

A~ SRS —— - P A=, -
ACTRUT TRTRRLFOD Se3300m) 33-35% SREnpymwaN RT3

&

a) 2050 b) 2015

c) 2014 d) 2030
Noise pollution limits at residential area

a) 45dB b) 80 dB
c) 55dB d) 90 dB

et O e D eI P e = - N5
WA IV Y it T e
- = ]

a) 45dB b) 80 dB

¢) 55dB d) 90 dB
Which of the following is the viral disease ?

a) Influenza b) Pneumonia
c) Tuberculosis d) Typhoid

2 IPATTNTD cCIRYTe TS |LLT?

a) oI %% ) TWERECIN
c) 3c d) €=ew

TR

don
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47. The examples of renewable resources are

a) Fossil fuel b) Metals
c) Minerals d) Plants
FVFORUBITT FOTIRUNY NTDTTHRTNES

a) TWOLVE QOTINHD b) &eemnvh
C) DARNED d) N@R%

48. During the photosynthesis, trees produce

a) Carbon monoxide b) Carbon dioxide
c) Nitrogen d) Oxygen
-doﬁén’o@;gﬁﬁodo ﬁabodad@m, 2oNPoT SUBGOIRNIZTES
a) TWFD R @ b) womwed & &8, &=
C) ATBRIZ d) esawss
49. The portion of the earth and its environment which can support life is known as
a) Crust b) Biosphere
c) Exosphere d) Atmosphere

ERVOD PN 202Y BTT TORT=Y zﬁedaidﬁl VNSNS el @ddaa{
20T FSODSHMIST.

a) 3% b) 23erines
C) @BREAEIT® d) S0TRTed

50. The amount of solar radiation reaching the surface of the earth is called

a) Solar flux b) Reflected light

c) Minerals d) Solvents

30003 e 0T BT AT DETET TRPEVI, FTODRNITTI
a) A°C Do) b) ©EFOT Ied

C) WM d) tREFND
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51. The fertility of soils is due to

a) Minerals and Organic Matter b) O, Concentration

c) CO, Levels d) Heavy Metal Content
WIS FOTLEN 5206

a) AT T3y PR TR b) O, w03

c) CO, =oenieh d) S0 Doue” £

52. Noise pollution causes

a) Diphtheria b) Tetanus

c) Hysteria d) Down syndrome
B BRI, FOLTIST

a) Geoou b) sz

C) LAcDCIR d) BT 4cERST

53. Which one of the following organization deals the human health from

environmental harms ?

a) Environment and Human Health

b) Environmental and Scientific Science

c) Ecological Protection Organization
)

d) Ecological Science and Solutions

b e i = Az
s»&“h »&.\-w o~ e
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54. How many millions of people were die each year from causes of air pollution 7

56.

e
2.

a) 2.2 b) 2.6
c) 4.2 d) 6.5
T3 SF I WIOCDE* 2T Tow) BnOF, BoHRes WoRGmY ?
a) 2.2 b) 2.6
c) 4.2 d) 5.5

a) Carnivore
c¢) Herbivore

. The animal which consumes decaying organic matter is

b) Detritivore
d) Producers

$04 mww TOODT T dr qu Kecmow w;f o

a) SROWIHL
C) BT

Low pH in rain water is called
a) Hailstone
¢) Monsoon rain

R B It O T ', o

Cryosphere is described by
a) lce bodies
c) Upper atmosphere

0 e
o b e e e e

e ) g

x_.,\, et B Sl -,_,'A‘v_

-
N R S R L N 4

1 e T e B S

L A R

C) - L
} VNN VIR SR

Bl Telabt
) SICT OGNS

b) @duiLipect

/

b) Alkaline rain
d) Acid rain

b) m’C:Om'

b) Water bodies
d) Vegetation biomass

b} weToneny:
RSN § V)

d --J-r—.‘—h--—/ P et o
) w’l vd«u.-AJL/JJ
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58.

59.

60.

QOil spills cause extensive damage to

a) Coral reefs only b) Fishes only
c) Birds and Mammals only d) All the above
%@ RO 9rg méaf?f TOOBI0ED dm:»bga’

T A4 2
2) BIIT W TN b) QeI WP,
¢) Bepieh =) AR 2N d) SeF 2R,

The 3 R principle in waste management involves
a) Reduce, Regain, Reuse

b) Reduce, Reuse, Recycle

c) Reduce, Reform, Reset

d) Reduce, Retain, Regain

2, ?O'Jo’ra’e“é"ojae‘)ms &=0° 3’3; WIRORTOR T

a) 3RF IR, TP TEWO, DITWTE TNE

b) 3G SRE, oW NG, YII[IFS NG

C) IRX BRB, BOTITR BN, ITIBRODY

d) 3R STRE, em%é.@e%, BOTY BEOO

Human Developmental Index (HDI) was developed by
a) Malthus

b) Simone

c) Mahbub ul hag and Amartya Sen

d) None of the above

=33 o0 Reressm (HDI) susonanss:
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61. National Environmentg| Protection Act was enacted in India
a) 1976 b) 1986
199
c) 1996 d) 1998
0ET Togy, 4,60 ORI Nod%ﬁ anfowab 39 2007 Foos
) 1976 b) 1986
c) 1996 d) 1998
62. Cadmium pollution in water causes
a) ltai-ltai b) Minamata
c) Cancer d) Night blindness
REOBYTS T, BoHTF SN BREMNESR) YVOLVRREIDT,
D) q -
a) at-ay b) Qomzem
)

d) o¢ BoTHBE

63. Green Revolution is associated with
a) Milk production

b) Agriculture
c) Fish culture

d) Sericulture

—_— = - — )
RATO T9,08 2TTRODN R00T BRodT
N 2T = °
a) T NI b) 3
= Lo -
T, T SeR &
°) PR d) e

64. Which one of the following components constitute the plants, animals and the
microorganisms ?

a) Inorganic components b) Abiotic components
c) Biotic components d) Mineral components
<3 TINT IR PLBNE TRAW, TN R AR 2N Te3onngs 9
a) €307 RIRD - b) es22e% ;eésa’ﬁaﬁ:

C) xf::s' TUWENLC d) Q2% umned
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65. Environmentalism refers to the movement to protect the quality and continuity

of life by Conservation of

a) Natural resources b) Artificial resources

c) Energy resources d) None of the above

DORTIRD) BT QURASEAVEY Nelecieciertia) d{sfoas’ 5 Srteverse]

#odﬁré’odo SR RRLRGT.
) $RNES RoTIRONY b) 328 HomRQUNY
C) B8 RomRRON d) oS TR B,
66. The phenomenon of accumulation of non-biodegradable pesticides in human
beings
a) Biomagnification b) Bioaccumulation
c) Biodegradation d) Bioremediation

DORFTY 03 DB LD sersTTINY SeDTFHOD AAEVE
a) wodee dﬁ%@(@é’@&f b) uoiraee;aé%da%cﬁeéﬁ
c) wadRean w3 d) wodrednrodeESs

67. The intensity of earthquake is measured in
a) Beaufort scale b) Richter scale
c) Mohs scale d) Joules

RToRE 8¢ g O, ATROCT SFONLNZH
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68. Black lung is a kind of occupationay hazardous to

a) Mining labours
- b) Navigators

c) Pesticide applicator

39, ) Réney umon

a) NSOE TQFITy

d) Agriculturist
20T Deday Rdr%eﬂé BT OLFTO

b) Marteuos
C) 3eL3TT 3, CWRIBZT '

d) 32z
69. Bio indicators of air pollution is
a) Algae b) Lichens
c) Pinus d) Fern
moi:odm@:’gsd DT Reedsnish
a) b) FeoBRZND
c) &3=° d) F=°F

70. The term sustainable development refers to development of economy at
a) high rate
b)
¢) judicious use of resources
d)

AT LR 0w Dy SHFFIOD YYD 39 RedRoed.

low rate

reckless use of resources
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